

September 1, 2015

$$\nabla(\Delta + -\dot{-}) = \text{☺}(\nabla - \$)$$

$$\nabla(\Delta + -\dot{-}) = \text{☺}\nabla - \text{☺}\$$$

$$\nabla(\Delta + -\dot{-}) = \nabla\text{☺} - \text{☺}\$$$

$$-\nabla\text{☺} \quad -\nabla\text{☺}$$

$$\nabla(\Delta + -\dot{-}) - \nabla\text{☺} = \text{☺}\$$$

$$\nabla(\Delta + -\dot{-} - \text{☺}) = \text{☺}\$$$

$$\Delta + -\dot{-} - \text{☺} = \Delta + -\dot{-} - \$$$

$$\nabla = \frac{\$ \text{☺}}{\Delta + -\dot{-}}$$

Sep 1-9:03 AM

$$\nabla(\Delta + -\dot{-}) = \text{☺}(\nabla - \$) \text{ for } \nabla$$

$$\nabla\Delta + \nabla-\dot{-} = \text{☺}\nabla - \text{☺}\$ \text{ Dist.}$$

$$\nabla\Delta + \nabla-\dot{-} - \nabla\text{☺} = -\text{☺}\$ \text{ Add } \frac{\$}{\Delta + -\dot{-}}$$

$$\nabla(\Delta + -\dot{-} - \text{☺}) = -\text{☺}\$ \text{ Dist.}$$

$$\frac{\nabla(\Delta + -\dot{-} - \text{☺})}{(\Delta + -\dot{-} - \text{☺})} = \frac{-\text{☺}\$}{(\Delta + -\dot{-} - \text{☺})} \text{ m.f.}$$

Sep 1-9:23 AM

Quiz # 3

#1)  $3 \times 4 = 4 \times 3$

0	4	8	12
0	4	8	12
0	4	8	12
0	4	8	12

$4 + 4 + 4 = 12$

0	3	6	9	12
0	3	6	9	12
0	3	6	9	12
0	3	6	9	12

$3 + 3 + 3 + 3 = 12$

#2)  $3 \times 0 = 0 \times 3$

0	0	0	0
0	0	0	0
0	0	0	0
0	0	0	0

$0 + 0 + 0 = 0$

#3)  $\frac{a}{b} = b \sqrt{a}$   
Remainder = 0

$\frac{12}{4} = 3, 10$

Sep 1-9:14 AM

$$F^\circ = \frac{a}{5} C^\circ$$

$$E = \frac{m c^2}{c^2} = m$$

Sep 1-9:32 AM